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Aufgaben-Quickname: 7622

Aufgabe 1
Quick:
7622

Berechne.

a) 20− 8 = 12 b) 40− 2 = 38 c) 70− 4 = 66
d) 50− 8 = 42 e) 70− 1 = 69 f) 20− 3 = 17
g) 50− 9 = 41 h) 90− 5 = 85

Aufgabe 2
Quick:
7622

Berechne.

a) 24 + 6 = 30 b) 18 + 2 = 20 c) 36 + 4 = 40
d) 10− 8 = 2 e) 29 + 1 = 30 f) 90− 7 = 83

Aufgabe 3
Quick:
7622

Berechne.

a) 25 + 5 = 30 b) 25 + 5 = 30 c) 68 + 7 = 75
d) 45 + 5 = 50 e) 75 + 5 = 80 f) 35 + 5 = 40
g) 75 + 5 = 80

Aufgabe 4
Quick:
7622

Berechne.

a) 10− 5 = 5 b) 20− 5 = 15 c) 90− 5 = 85
d) 90− 6 = 84 e) 100− 9 = 91 f) 60− 2 = 58
g) 60− 1 = 59 h) 90− 6 = 84

Viel Erfolg!
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